
P14 （１） ２５＋１３＝３８ P19 （１） 0.08 9.513 0.002 40.007

４１＋５７＝９８ （２） 0.1

３７１＋５２６＝８９７ （３） 0.004

６１５＋３０４＝９１９ （４） 0.03＋0.75＝0.78

チャレンジ １３５６＋８５２０＝９８７６ 0.29－0.04＝0.25

７２０５＋１６８３＝８８８８ 0.01＋0.09＝0.1

（２） ８９ー２４＝６５ 0.83－0.05＝0.78

７３ー５１＝２２ 0.251＋0.006＝0.257

４７８ー３５２＝１２６ 0.974－0.013＝0.961

９４７－６3０＝３１７ 7.638＋0.052＝7.69

チャレンジ ３６４９－２５３８＝１１１１ 4.12－0.007＝4.113

８３８４－７１５０＝１２３４ P21 （１） 12×4＝48

P15 （１） ３１＋３５＝６６ ４３×2＝86

１２＋６４＝７６ ２９×３＝８７

４６２＋１３６＝５９８ ３７×２＝７４

５０３＋１６２＝６６５ ６１×３＝１８３

チャレンジ １２３４＋３３３３＝４５６７ ８４×５＝４２０

４４４４＋４３２１＝８７６５ （２） ４８÷2＝24

（２） ７６－４５＝３１ 96÷６＝16

９５－８１＝１４ ７２９÷９＝８１

６８９－２０９＝４８０ ２９６÷８＝３７

７２５－６１３＝１１２ ６９３÷３＝２３１

チャレンジ ７６５４－２２２２＝５４３２ ４９６÷４＝１２４

５５５５－４３２１＝１２３４ P22 （１） ①５８3人

P16 （１） ９６＋７２＝１６８ ②４１７人

６３＋２９＝９２ ③１万８千人

８１２＋４６５＝１２７７ （２） ①６１万人

４３９＋５０２＝９４１ （３） ４７５人から４８４人まで

チャレンジ １２３４＋９８７６＝１１１１０ P23 （１） 午前９時３７分

６７８９＋５５５６＝１２３４５ （２） ２時間５１分

（２） ７３－１５＝５８ P24 （１） 26＋99＝125

１０４－８２＝２２ 43＋98＝141

３１６－２４０＝７６ 852＋999＝1851

１３８７－９３５＝４５２ 539＋997＝1536

チャレンジ ９１１０－８８８８＝２２２ （２） 372－99＝273

６９１２－１２３４＝５６７８ 651－98＝553

P18 （１） 7165974238 1348－999＝349

6851780723415 2495－997＝1498

（２） ５０億＋１０億＝６０億 （３） 67×99＝6633

８０億－２０億＝６０億 ４１×99＝4059

６００億＋９００億＝１５００億

１０００億－３００億＝７００億

40兆＋５０兆＝９０兆

７０００兆－６０００兆＝１０００兆

９００兆＋８００兆＝１７００兆

２０００兆－４００兆＝１６００兆

たのしいそろばん４年　解答


